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Note: Answer four questions in all. Short an<wer

171443

type Question No. 1 carrying 20 marks is
compulsory. Answer rest three questions each
carrving 10 marks. The answers to short answer
type questions should not exceed 200 worids and
the answers to long answer type questions

should not exceed 500 words.

(@g STNIg w¥A)
(Short Answer Type Questions)
frafaiea yewi 3 og 3w D
Write short answers of the following :
(a) wafg &1 adae 2 wfd@ ) a9 Ay a9
wend 27

E<A=20

'Growth means stability.' Do you agree with
it. |

(by afaRaa yeu @ fagra & sfalRa &1 anv
T HE 7
Why 'surplus’ is symbolized by AM inthe
'theory of surplus value'?

() BI-UR IWRW | W I FHAT 27

What do you understand by 'Knife-cdge
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problem™?
(d) o -apr @ srauRen B [ F wdt i |
Outline briefly the concept of 'Golden

Age'.
(e) fr= WifiEHTw &l THHATSY-
r=sf(r, 1)-nr
et foel & wafera uaw €1

Explain the following equation :

r=sf(r,1)-nr
where the symbols have their usual

meaning.

(& S W)
(Long Answer Type Questions)

gfs wgem & afkaw (@ e @ adl @)
ARV | 10
Explain the conditions of existence and stability
of growth equilibrium.
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Compare the models of Adam Smith and
Ricardo with regard to their treatment of
technology, capital accumulation and stationary
state.

e ey § W Bgl-gR anaEenr @ e
IS0 €, S 68T ¥ wHegy R qaisy & deei
frw wor zud fdo A I Fd € 10
Explain briefly the problem of 'Knife-edge
equilibrium' that arises in Harrod medel, and
show how Kaldor tries te eliminate it.
#Y9ai/OR

Wqﬁaa%wmwﬁa‘mﬁzﬂﬂﬁfﬁi%_m
¥ Wgfe wge A wPHla B ARy |

Explain the nature of growth equilibrium in
Solow's model with the help of examples of

production function.

o1 Y Hafe weu A wfla wRA H AN W
Afw o wrar 21 et @ RAd=En A 10
'James Tobin has tried to find a place for the
money in the Growth Model'. Discuss the
implications.
Fgar/OR
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o faare @ 27 gES Y amanl &1 g
T |

What is 'Capital Controversy'? Elucidate its main

dimensions.
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